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<BAD=/,x  138°= 6% 
 

Bl 
 

<AOB 
<ADB = 180° -42°+/,x  13 Bl = 360-(138 + 840) 

= I80°-  111°  = 360° - 222 

= 69° 8 marks = 138° 

 

- 

 

K.C.S.E  2001 MATHEMATICSPAPER 121/1 MARKI NG SCHEME 
4 

 

SOLUTION                                                                       MARKS]    ALTERNATIVE  METHOD 
 
 
 
 

20 a)   i) <CBD = 90°-42' 48°                                               Bl 

Subtendedby diameter                                              BL 

ii) <BOD =  180°-42°= 138° 

cyclic quadrilateral 
 

Reflex BOD = 360°-  130° = 222° 

 
b) In ABAD                          • 

Bl 

Bl 

 
Bl 
 

Bl                     <BPD = 138°

 
 
 
 
 
 
 
 
 

21. «a)k@2x-)d=2x-5x+c 

3 

y2°-5x+€ 

3 
3-2x2   5x+C 

3 

C = 7 2  or  23 

3          3 

y=2   x°-5x+7  2 

5              3 

MI 
 

 
 
 
Ml 
 

 
Al 

3 marks
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SOLUTION                                                                

ARN   ALTERNATIVE METHOD 
 

 
 

21.()/@2e+e-1)dt=  2t'+1-

t+€ 
4        3 

 
 

a-&-«-[#"]] 
("() 

; 
=462 

5 

 

Ml 
 
 
 
 
 
 

 
Ml 
 

 
 
Al 

8 mar 

 

2t'+1e-t 
4       3

 

22 (a) 
H 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

b) () 0.2x0.3x0.15 =0.009                                              Ml 
(i) 0.2x0.7 x0.85= 0.119 

0.8x0.3  x0.85 = 0.204 

0.8x0.7x0.15 = 0.084                                                Al 
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= 

7.0i7 
(ii) HHM0.2 30.3 x0.85 =-0.051 

HMH 0.2x0.7x0.15= 0.021 

MHH 0.8x0.3 x0.15=0.036 

HHH0.2 x0.3 x0.15 = 0.009 

7 

 

 
 

Ml           1-(0.407 + 0.476) 

Al                 1-0883 
=0.117
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i        -     -. 

I 

+ 

I,a                               A                                            &                                    .t 

. 
K.C.S.E 2001   MATHEMATICS   121/2 MARKIN G  SCHEME

 

+,-
  

_,(
 SECTION_I   (52 MARKS)  

-!--                       .:__ -
.--~--')(-:(:--1  l      

2_2~)-x_2_7 
_~-

==:::::::::::::::=........:.:: 

t-_...:

 

3     i4        4          7       9 

I          11      27     4 
t          + 

3                4       7       9 

11                   4 
or     -]• 

 
2 

(x -5)+5(x+4)   =( 

w 

=] 

J.          M[
·
wa.   

3 
«  

2 
x         

I  
x 

8      3            4 

 

 
 
 

Ml          All  multiplication 

Al         Simplified  to  lowest  form 

2marks                                                   t 

MI         .Mn:t  for rating correct             ! 
I 

MI         powers  oil  Z 

3           Mzl  fs  rushing pwg  Fron» 

3  marks     above

 
AH!a.  X 4!-+-

X°--X 

'3     4            12 

 

Bl         
Or -

5
- 

12 
12

-5-x  -y!
 

41)
90

(0
0

 -         
MI

 
10000

'     ·
.±« =

 

12 

 

 
 
400o0 

2                                  
I 

I 

Al         
do  not award for 60

x = 240000 

4.          A=mB+n  B 

3= 9m  + 3n 

15=  14m =n   4 
 

420 = 126m   +  42  n 

LM4=126m   ±   33,68n 

276=                 832n 

n =  3317 
9m   =  30-9951=-69.51 

m     =   7723 
 

1I/ 
4wt   4D       «2«      

ti                          •d.     t                             

tt 

= 278.0         199.0 

=-1 

5.         a) 
 

 
 
 
 
 

 
 

b»Four (4)  piapes of Symmetry 

https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com


Ecolebooks.com   
 

 

 

DOWNLOAD MORE RESOURCES LIKE THIS ON ECOLEBOOKS.COM  
 

 

3  marks 

 
ML         Mark  for at  least one 

equation 

·- 
 

MI 

Mark  for attempt to solve 

equation 

 
 

 
44f 

»tl 

Mark  for substitution  of 

4arks     pupils constants 

12          BI  If dotted  lines omitted or 

fully  drawn 

 
 

 
Accept either (lines to  be 

dotted)

 
 

6.         Kshs (4320   -  3760   + 2080)= 966u 

 

Tota,t b·
1
11  =  965.0  .-

1-
15- 
t00 

-      oozy     DR.'''fie
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= 

 
 
 
 
 
 
 
 

 
x + 24) 

8          Log    .. ]    7 

 
 
log(9    2) 

3  marks 

MI

~    3 
 

 
9 

19x = 57 
x=3 

• 
=33183-670 =323 

y 
_323  +343  + 350   _

= 
338/

3
 

 
'., 
vIt 

 
Al 

3  marks 

2 

BI 

Bl

3                                                                            3  marks 
 

10        (2+x)'=2'+25x  +2'     10x  +2    
10'+ 

=32  +80x + 80  + 40' 

(2.03)°=32 + 80 0.03  +80     (0.03)+ 40 x  (0.03)' 

=32  +24+0072  +0.00108 

= 34.47308 

-  3447 (4sgmficant figures) 

 
dy           •                                                                       MI 

1I       (a)  '=15x  -14x  +3 
dx

 
 

(b)
 

 
y-3 
-=4

 

Grad.  -15-       14·1+3-4                   AI

x - l                                                                               
MI         QR      y=4X•

 
 
 

12.        Area  of pentagons 

=%x4.254.25 sin 72"  «52 

=%4.25425095115
2 

=  18.06  0.9511     5 
= 85.88    QR  (85.9) 

Area  cf rectangle  faces 

=  5125=300 

Total  area        = 300  + 85.88 

- 
18358 

 

 
 
MI         Allow  from area  of one 

pentagon 

Al 

 
MI 

I 
Al                                                         I

H   =    1181-343                      i 

Area     -'35·54             [ 

l
F
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--- ---          .,'       =.850                I 

 
-_        •                   44k 

4  marks     Area  =  46s.257e       ; 

'devision-K9CSE Maths 1995-2005       i 
ttttv
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• 
i 

 
13.                                                      tan  15  •   

5.5
 

2-4i 

.'a.Ji 
-2-Vi 

 
14 

Bl 

MI 

AI 

3  marks 
BI         Augle bisector

 

 
 
 
 
 
 
 
 
 
 

15.        4(1-Cos8)+4  Cos9=5 

4Cus26-

4Cos6+I 

n! 
 
 
 
 
 
 
 

R                  3  marks 

 
MI 

!  bisector {mediator}   fp 

mak  {on  shadug .g:on

 

 
 
 
 
 

16. 

(2Cos 9 -  D) (2 Cos8-1)=0 
 

Cos.& =  • 
2 

0=60, 300"° 

MI 
 

 
Al 

3 marks

 

 
 
 
 
 

Bl 
 

 
rt 
A  ) 

 
l:ll 

 
Bi         Mark for labeling the region 

 
 
 
 
 
 
 
 
 
 

https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com


Ecolebooks.com   
 

 

 

DOWNLOAD MORE RESOURCES LIKE THIS ON ECOLEBOOKS.COM  
 

 

 
 
 
 

 
- 204•                                      .evision  K.C.S.    1.       1095.2005

https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com


Ecolebooks.com   
 

 

 

DOWNLOAD MORE RESOURCES LIKE THIS ON ECOLEBOOKS.COM  
 

 

https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com


Ecolebooks.com   
 

 

 

DOWNLOAD MORE RESOURCES LIKE THIS ON ECOLEBOOKS.COM  
 

 

l 

• 

1. 
~ 

 

I 
 
 
 

 

= 640.000 +  1,440.000  +  2  •  96,000  0  1736 

= 2413312  (2413000) 

=PJ=  1553km 

\ 

]   @ 

MI         ii    rem   scale  drawino 

MI              Bearing dist  PH-BI 

earmng  dist   HJ  -  Bl 

AI              PJ  measured  converted  BI 

(15  5  ±0  I  QR  775  +0.2)

Si6 
n) 

800 

Sin 1o 

1553 

 

Sin!)  • 
800·0 9848 

1553 

 
Ml         in)     HJP - 30 +1" 

Bearing = 360 - (40 + 30)

=  0.5075          9 = 30" 29' (0"  30') 
r           ·                          r        tell  e 

re!        t!  -tu7  2        2 
 

= 289"  31'    (289 30')     OR    289  5" 

- 290" 
MI 

 
AL

T.
ime  

fi
tor j

.
et = l553 

1035 
= 1  5i0lhI 

MI

. Time for helicopter=   1.501  + 0.2

= Speed=
 800 

=  470.6                                                  Al
- 

'              1.701 

18.  a()   225  +  1196 + 144=  169+P° + 256 +  121  +  169  + 
144 +  1289 = 1794 

p+1713=  1794 

p =8l 

P=9 

a (ii)   Standard deviation 
Mean =  (915  +  14  +  2+  13+9+  16+11+13  

+ 

12 +17)+10    =132 

 
X          15      14      12     13     9       16     11      13     12     I7 

 

X-X    1.8     0.8        -1.2    -0.2    -4.2    2.8       -2.2    -0.2   -1.2    3.8 
 

(X-X
-  
)

2  
3.24   0.64     1.44    0.04    17.74   7.84     4.84  0.04    144   

14.44 

2(x-8;  =516 

s.d        = ✓Sl.6     OR 
10 

= 2.272  OR  228 

 

b 
(
i
)     
 
N
e
w  
m
e
a
n
=  
1
6
.
2 

b
t
)    
N
e
w 
S
.
d
=
2

.272 

j! 
a)5,   
7,   9.   
1 

]      s.-
ts+co-val  

= 2700 
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8 marks 

 
MI 

 
Al 

 

 
 
 

Ml 

Al 
 
 
 
 
 
 
 

M A 
BI Bl 

8  marks 

B2 

MI AI 

 
 
 

Mark  

for all  

values 

added 

 
Mark  

for 

correc

t 

value 

of P 
 

 
 

I     
  
O

r 

e

q

u

i

v

a

l

e

n

t 
 

 
 
 
 
 
 
 
 
 

Mark 

for at 

least(

X-  

X) 
 
 
 
 

 
OR 

_50 5-' 250+3
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0 

o. 

0)s,={2xs+(-12 
11 

=-(8+2n) 
2 

=4n + 

 

 
n'  +4n<725 

n   +4n     725<0 

in  +  2)t-25.% 

. ·.  n = 24 

 
 
BI 

 

 
 
 
AMI 

Al 
ti 
tt 

marks 

 
 
Mark  for  following working

 
 
 
 
 

20.a)   RA= 
30 
; 

tan 26 

 

or  =RA 30 tan 64

-       30             n..n< 
ti      Ji               44 

 
iii

0.4877 
 

=61.51   (61.5)                                                                       
AL

 
 
 

ML 

RB =  ?"  or  =30ans8s° 
tan32                                                                                  AI

=    
30 

or30x  I,600- 
0.6249                                                                                Ml 

 

=48.01   (48) 

 
AI 

AB =  V61.5£  

+48.01 
 

-  V3783 +2305 
 

/nee 
--   yUUoo on    :._   48.0l 

bi4it

 

= 78.03 

78.03 
Ml

 
 
 

b)   tan~     = 
48.0l 

61.51 

 

Al 
8 marks

=  0.7805 

0    =37 58' 
 

bearing    = 360   .   3      58' 

= 3227,22.03) 
..Lt'i 
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]            illy      till'al#t                      1itt 

'!! 

. 

-] 

-l 

If 

21 

x°             1s" 
3Cos 2° 
2sin (2x + 30)  1.732 

 

 
75"         150" 

-2.598    1.5 

 

 
I6" 

BI 
() 

BI
 
 

2                                              
rflt1"t            .:..:.: .    :..:.. :   .:..:....:...:.: :    j-i-i;;.,.;    •  •••                           ttittt1 

~iiiij~Fili                "1Lii#IHI['LELIEIEh#EE[IE it/E'II 

SI         Mark  for  scale 

used

.,                                  II[II[iIEE/II//  •  Ill#l! 
!                      I!        1 

 

PI 

ldt       I0I   A

4                                                                               ) 

t                                                                                                                                 PI 
I
 

points

tutu                        ,-, 

Ii                                         8; 
HAI                                         I                          1t 

IM 

 

Mark  for all 

c        points

U                                       ft                                                                                                                                       t 

--                        ttt                          I#I    ilI    IIlIIII'III'l'      lill                  
tt"pvt@twp@@rtitr jivir:es...++,,1

I I   l            I  I 

 

IT 

bi         iari io   souii1 

curves 

 

--B-l~-··~
 

;   
I
 

 

 
h               i               III!           l              I  - 

8 

rnarks 
Mark  for  25" 

I6"  stated 

Accept (24. 

27) 

From  his graphs

i 

H                INN           {Illll         II read within  !"

6                     we            '%        !be                   so         1&0
 

 

22 

dx        2 
a)           -=3t-4t 

dt                                                                                                 M 
· Velocity=3     2 -4   x2                                                          

4

 

= 4m/s                                                                        Al 

Mark  for  25  < x 
<116

b)()     3£  -  4t=0   o»  t(3t-4)=0                                                  MI 

4 

. . t=  •3 

Ml 

5  74   +6

64      32 
m   •   -4 b 

27       9 

=  4d 
22 
27 

 

_64-96,% 

27 
 

(4.815)                                                               Al

 (i) d2x 

https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com
mailto:pvt@twp
mailto:@rtitr


Ecolebooks.com   
 

 

 

DOWNLOAD MORE RESOURCES LIKE THIS ON ECOLEBOOKS.COM  
 

 

- 

dre  
=6

t     

4

.'.  a=6x 
4 
-2 

3 
=4m   15 

Ml 

Al 

 
S  marks 

 

- 207•                                    'Revision K.C.S.E Maths 1995-2005

https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com


Ecolebooks.com   
 

 

 

DOWNLOAD MORE RESOURCES LIKE THIS ON ECOLEBOOKS.COM  
 

 

https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com/
https://ecolebooks.com


Ecolebooks.com   
 

 

 

DOWNLOAD MORE RESOURCES LIKE THIS ON ECOLEBOOKS.COM  
 

 

 
23 
a)   i)    Vol. cylindrical part 

 

=  
2
-

2
x070.7I                                                        

Ml
 

7 
AI 

=154m'                                                                         Ml 
I

in) X-Section = -04  x  sin 60" «6 
2

I    . 
=-.01   .01.0866     ' 

2 
 

= 0.41568  (0.4157)                                                        MI 
 

Vol  hexagonal part = 0.41568      4                                AI 

 
=16628 (1  663)                                                            MI 

b)                     Volume of pillar (54+1.6628)-0.25  

xS 
 

= 3.2028 -L25   =  19528  (1.953) 
 

c)                     Mass = 1.953     2400 
 

= 4687.2kg (4687kg) 

 
 
 

MI 

 
Al 

 
8 marks

24.        a)           800 x+  1600y 8000(x  + 2y 210) 

4 + 7y<4] 

x2>2and y 22 

BI 

Bl 
BI 
 
 
 
 
 
 
 
 
Bl        Mark for each line draw and 

shaded 

 
BI 
 

 
BI         Mark  for type A= 3  & type 

B=4 

 
BI         Mark for numbers of 

'  
"       1tors3      "  +  4  7= 40

 

-... h;.~J:'.~~- L..  -                --····   ---- - - -·-
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